Using Table of Integration Formulas

1) Find the indefinite integral: IW

Using Formula 13: Leta=4;b=3;
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2) Find the indefinite integral:
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Using Formula 39:
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3) Find the indefinite integral: j dx.

Letu = x:xl’2:>u2:(\/§)2:x
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Using Formula 50 with n = 4:
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4) Find the indefinite integral: J-e*“ sin 3xdx.
Using Formula 85 with a = —4;b =3;u = x;du = dx:
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5) Find the indefinite integral: I(In x)3 dx.

Using Formula 91 with n =3;u = x;du = dx:
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6) Find the indefinite integral: j

Let u =e* = du =e*dx

Using Formula 71:
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7) Find the indefinite integral: Ie—dx.
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Let u =e* :>u2=(ex)2 = g
Also, u=e* = du=e*dx
Using Formula 45 with a=1
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8) Find the indefinite integral: j

Let u =sinXx = du = cos xdx

Using Formula 31 witha =1
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9) Find the definite integral: I
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Using Formula 21 with a =3;b =2;u = x;du = dx:
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10) Find the definite integral: IX—de
2 (5+2X)
Using Formula 7 with a =5;b = 2;u = x;du = dx:
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